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[bookmark: _Toc353880058]Correction of the calculation (see ticket #997)
[bookmark: _Toc353880059]Current implementation
Table 1: comparison of current implementation and needed changes
	mode
	Calculation (corrected)
	Comments
	Currently implemented

	Eq1 (mode: user defined): 
(no change)
	Avr = Bmask 	
	Here Bmask is similar to a “blocking response” (as used in STG(12)25) in dB (positive values) 

	Avr = Bmask

	Eq2 (mode: protection ratio):
	Avr_BlockingRatio=Bmask + C/(N+I) + (N+I)/N
	Here Bmask is in dB (positive and negative values)
	Avr_BlockingRatio=Bmask + C/(N+I) + 3

	Eq3 (mode: sensitivity):
	Avr_sensitivity = Bmask + C/(N+I) – sensitivity_receiver - I/N
	Here Bmask is similar to a “blocking level” i.e. the maximum acceptable interfering power in dBm
	Avr_sensitivity = Bmask + C/(N+I) – sensitivity_receiver

	Note: Bmask is the input from the user and extracted from the standard.
	




[bookmark: _Toc353880060]Proposed changes
Source on package org.seamcat.model.core
Class BlockingInterference.java

[image: ]
Proposed change for Eq2 (yellow marked)

[image: ]
Proposed change for Eq3 (yellow marked)

[bookmark: _Toc353880061]Consideration of the emission mask 
[bookmark: _Toc353880062]Example
For whatever reasons the user may decide to define the transmitted power by the emission mask as shown in Figure 1 below:
[image: ]
Figure 1: transmit power defined by the emission mask
Note: in order to avoid a misinterpretation it is proposed the remove “(kHz)” from the above legend.
[bookmark: _Toc353880063]Current implementation
[image: ]
· SEAMCAT gets the value of the input field “Power” taking account of its distribution (getTxTrialPower).
· SEAMCAT applies then the power control (if selected).
· SEAMCAT considers the antenna gains of ILT (rItVrAntGain) as well as VLR (rVrItAntGain).
· SEAMCAT does not consider any bandwidth in terms of power spectral density.

This leads to an erroneous calculation by not taking account of the defined power of (on the above example) 68 dBm/5 MHz.

[bookmark: _Toc353880064]Trial to repair
[image: ]
[bookmark: _GoBack]Adding the above code to the method iRSSLinkBudgetBlock was the first trial to solve the problem. Unfortunately, in the environment of this method only the ArrayList “points” is made available, which is normalized to the bandwidth of 1 MHz and additionally, the call of the method getRefBandwidth() returns zero.

Note: the interface to the post processing plugin makes the origPoints available, i.e. one could correct the total power there.
[image: ]

[bookmark: _Toc353880065]Proposal 
As the reference bandwidth of the interfering transmitter is already required for the calculation of the co-channel part of the emission mask, it is proposed to change the calculation of the blocking interference in such a way, that the emission mask including its reference bandwidth is considered in general.
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double rItPower, ritVrPathloss, rltPowerControlGain, rItVrAntGain, rVrItAntGain, rAttenuation, riRSSValue;

rItower = getInterferenceLink().gecInterferingLink().gecInterferinglinkTransmittes ().getTxTrialPover ();
rItvrAntGain = getInterferencelink().gecTxRxAncennaGain()
rVrItantGain = getInterferencelink() .gecRxTxAntennaGain()
rItvrPathloss = getInterferencelink () .getTxRxPathLoss (
ractenuation = vrAttenuation (debug)
getInterferencelLink() .setblockinghttenuation (rAttenuation) ;
1/ Power Control
rItPowerControlGain = 07
if (getlInterferencelink().getInterferingLink().getInterferingLinkTransmitter () .getUsePowerControl()) {

zItPowerControlGain = getInterferencelink() .getInterferinglink() .getPowerControl () .getInterferingTransmitterPowerControlbain()

riRSSValue = rItPower + ritPowerControlGain + rIcVrAntGain - rItVrPachloss - rAttenuation + rVrItAnctGain:
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// TODO ki added to consider the emission mask
double rItRelPower = 0, rItTxRefSandwidth = O;
if (rItPower == 0.0) (
try ¢
rItRelPower = getInterferencelink().getInterferingLink()
.getInterferinglinkTransmitter () .getUnvantedEmissions ()
-gecFunction () .evaluate (0) ;
rItTxRefSandwidch = getInterferencelink().getInterferingLink()
-getInterferingLinkTransmitter () .getRefBandwidth () /1000; // in Miz

} catch (FunctionException e) { % @ points= Araylist<E> (d=180)
// TODO Buto-generated catch block & elementData= Object(15] (d=157)
© modCoun

e.printStackTrace():
) B size=15

riRSSValue += rItRelPower + 10+Math.logl0(rItTxRefSandwidch): & reference="MFCN SDL full power”

B
7/ T0DO Kk end mod

return riRsSValue; MFCN SDL full power
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(boolean debug) {
7/ Function blockingAttenuationRatio;
double rOffset, rCNI, rNIN;

ZCNI = getInterferencelink().getVictinlink() .getVictinLinkReceiver () .gecCnilevel();
ZNIN = getInterferencelink().getVictinlink() .getVictinlinkReceiver () .gecNinlevel();
zoffses = 3 + rCNI;

zOffset = rNIN + xCNI; // mod by KK

1f (debug) {
L0G.debug ("Victim Receiver CNI Level = " + XCNI):
L0G.debug ("Victim Receiver Blocking Response Offset = " + rOffset + " = (N+I)/N + C/(I+N)");
B

" blockinghttenuationRatio = getlnterferencelink().getVictinlink().getVictimlinkReceiver () .getBlockingResponse ();

return roffsec;
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| BEBIHEN a5 Ub1E VEAEEERUAE16ASERS (boolean debug) {

// Function blockinghttenuationsens

zoNT
=zSens

getInterferencelink() .getVictinlink () .gecVictinlinkReceiver () .getCnilevel
getInterferencelink () .getVictinlink () .getVictinLinkReceiver () .getSensitivicy()

// blockingAttenuationSens = getInterferencelink().getVictimlink().getVictimLinkReceiver ().getSlockingResponse ();

Jrayme—
L06.ebug ("Vicoin Receiver CNI Level = " + zONT
LOG.debug ("Victim Receiver Semsicivity - % - zsens):

L0G.debug ("Victim Receiver Blocking Response Offsec = " + zOffset + % = ONI - Semsicivicy - L/NW) 1

return roffsec;
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